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QUESTION 1

The team determines that it has over-committed itself for a Sprint. Who should be present when reviewing and adjusting
the Sprint work?

A. The team, the Scrum Master and the Product Owner. The Stakeholders should be consulted.
B. The team and the Scrum Master. The Product Owner should be consulted.
C. The team only. The Product Owner should be consulted.

Correct Answer: C

QUESTION 2

Who is the owner of a Sprint Backlog Item during the Sprint Planning meeting?
A. The entire team owns all Sprint Backlog Items.

B. The Product Owner owns all Sprint Backlog Items.

C. The team member working on the item owns that item.

Correct Answer: A

QUESTION 3

A large product team features six different teams having ten members each, working on a project that involves four high
level features.

How many Product Backlogs should the team have?
Al
B. 4
C.6

Correct Answer: A

QUESTION 4

According to Agile principles, what should be the pace of development?
A. Fast

B. Increasing

C. Sustainable
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Correct Answer: C

QUESTION 5

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
days right at the beginning of the four week Sprint.

What is the most likely reason that the team did not meet the Sprint objectives?
A. The Product Owner is unable to prioritize.

B. The team is lacking skills.

C. The team did not plan the Sprint effectively.

D. The team is over-worked.

Correct Answer: C
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